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ECONOMICS HSSC-I
SECTION - A (Marks 20)

NOTE: Section—-A is compuisory. Aii parts of this section are to be answered on the question paper itseif.
it shouid be compieted in the first 25 minutes and handed over to the Centre Superintendent.
Deieting/overwriting is not ailowed. Do not use lead pencii.

Time allowed: 25 Minutes

Q.1  Circle the correct option i.e. A/ B / C / D. Each part carries one mark.
(i) Net National Product (NNP) can be obtained as:

A GNP — depreciation allowances of machines used B. GNP — replacement cost of machines
C. GDP — Direct taxes D. GNP — Direct taxes
(i) In order to caiculate “Personal income (P1)”, transfer payments are added to:
A National Income (NI) B. Gross National Product (GNP)
C. Net National Product (NNP) D. Gross Domestic Product (GDP)
(i) Which one of the following statements is correct?
A. Per capita income of Pakistan is high 8. The living standard of Pakistan is high
C. Pakistan is a developed country D. Pakistan is a developing country
(iv) Economic development is normally achieved in:
A Long period B. Short period
C. One year period D. No specific time period
(v) The reason for low capital formation in Pakistan is:
A Absence of government patronage B. Low level of saving
C. Entrepreneur are disinterested D. Banks do not advance loans
(vi) Speculative demand for money (Mds) is a function of:
A. Consumption B. Aggregate saving
C. National Income D. Rate of Interest
(vii) Cross cheque is an instrument of:
A Metallic money B. Paper money C. Credit money D. Nominal money

(viii) V= T means:
M

A Income velocity of circulation B. Velocity of circulation of legal tender money
C Velocity of circulation of credit money  D. Transaction velocity of circulation
(ix) During a period of deflation the purchasing power of money:
A Fluctuates B. Falls C. Rises D. Remains constant
(x) Which of the following is NOT a function of a Commercial Bank?
A To give loans to government B. Note printing
C. Transfer of money D. General utility services
(xi) In the period of inflation, central bani;
A Purchases govt. securities B. Sells govt. securities
C. Releases foreign reserves D. Provides loans to common people
(xii) Which one of the following is not a quantitative method to control credit money in a country?
A Credit rationing B. Change in reserve ratio
C. Open market operation D. Publicity
(xiii)  State Bank of Pakistan came into existence on:
A. 1st July 1947 B. ist July 1948 C. 1stJan 1948 D. 1st July 1949
(xiv)  Monetary policy of Pakistan is implemented by:
A Ministry of Finance B. National Bank of Pakistan
C. State Bank of Pakistan D. Planning Commission of Pakistan
{(xv) International trade will not take place when there is:
A Equal difference in costs B. Absolute difference in costs
C. Comparative difference in costs D. f country imports are greater than its exports
(xvi)  Balance of trade is calculated by the difference between:
A Exports and imports of capital B. Values of Imports and exports of goods

C. Values of exports and imports of goods and services D. Receipts and payments
(xvii) A taxon annual income of a person is a:

A Direct tax B. indirect tax C. Proportional tax D. Regressive tax
(xviii) General sales tax is paid by:

A Shopkeeper B. Wholesaler C. Producer D. Consumer
(xix)  Which one of the following is not a characteristics of Capitalism?

A Right of private property B. Consumers sovereignty

C. Competition D. Classless society
(xx) Which one of the following does NOT exist in an Islamic society?

A. The concept of Zakat B. Dignity of Labour

C. Heavy taxation D. Goodness and Justice
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ECONOMICS HSSC-lI g A

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-—B if required. Write your answers neatly and legibly.

CTION -
Q2 a. Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
()] Explain briefly the concept of Personal Income.
(i) What is the difference between Money income and Real Income? Explain briefly.
(i) What are the measures to promote investment in Pakistan? Write down briefly.
(iv) What is meant by per capita income? How is it measured?
v) List down the main common characteristics of under developed countries.
(vi) Describe the concept of economic planning.
(vii) What are the instruments of credit money? Write down briefly.
(viii)  Why do people demand money for speculative motives? Explain briefly.
(ix) Describe the term “value of money”.
(x) What is meant by bank? Explain briefly in your own words.
(xi) Describe the functions of Central Bank in your own words.
(xii) When is the tool of open market operation adopted by Central Bank of Pakistan?
(xii)  What are the causes of inflation in Pakistan? Explain briefly.
(xiv)  What are the disadvantages of internationai trade? Describe briefly.
(xv) Differentiate between current account and capital account.
(xvi)  Write down the major causes of deficit in Pakistan's balance of payment (BOP).
(xvii)  Differentiate between proportional taxes and progressive taxes.
(xviii) Briefly explain the sources of revenue of the Federal Govt of Pakistan.
(xix)  Who is the Sahib-e-Nisab Muslim for Zakat? Explain briefly.
(xx) Describe the demerits of capitalism.
(xx)  Why is the State Bank of Pakistan called “Banker's Bank’? Describe briefly.
b. Attempt any ONE part. {(1x5=5)
(i) Differentiate between horizontal mobllity of labour and vertical mobility of labour.
(i) What is the difference between Money Market and Capital market? Explain.
S =-C 0
Note: Attempt any THREE questions. All questions carry equal marks. {3 x 10 =30)

Q.3 How is the exchange rate determined? Explain in detail. 7

Q.4  What are the difficulties in the measurement of National Income of Pakistan? Discuss.

Q.5 Describe in detail the importance of economic planning.

Q.6 Write down about unemployment problem of Pakistan. How this problem can be solved? Give comprehensive
suggestions.
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